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QW& [Overshoot]
Cte= GZ S89| AZEA TEIAS 206 AT
25t Al2+ [Relaxation time]
DAY DS (2= KA HE S0 44 HE SE0| XS =0 2l B
22 1/eMXl 2ZAodl=d Zels Az
28 W1 [Melt fracture]
22X YE20| CI0IE XN F0| 2420t FIEcle 84
2=st ¢ [Kinematic viscosity]
DE S 9EHollA st MG E 229 UE2 L= AH. v mPs L.
SHS4H0eHE [Rheogram]
KUESA AHE T AIS D=
SHESH=XFI| [Rheometer]
SUHs™ HEs =Xol)| /A X
S4Hst [Rheology]
S&o RS HEN 2& 2.
SustA ALEf &t A Al [Rheological equation of statel]
: PA g™ Al(constitutive equation)2l =2/
SAIAA [Pseudoplasticity]
H& =3l(shear thinning)2l =201
a4 Ha Il [Negative thixotropy]
EF NAEZTC =90,
=22 [Stress]
ool X 8. Pa.
22 25} [Stress relaxation]
c BHE Ao HA (HE) SE0AM 220l HEH 012 &= A (HE)
A2 M () 8380| 2adte A.
22 HM [Stress tensor]
D 2H9 8 XNENA 222 MEHE LiEHH=s HE 228 28 S
dE. oy Pa.
Moz NEolH SHo HiZ ges &6t &.

&2 [Tension]
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=3} [Tension—thickening]
HAa MY SSNM HEE £ SIHEN et AE B0 HIX =
& =3l [Tension—thinning]
Ha AN SEUHM HEE £ SOHEN et A& B H0otKls 4.
NZ& =28 [Storage compliance]
MOIT SEHOl ASXZAHUAN (HE) S22 A0 LXdl=E (BHE) HEZEO 222
2202 s . J (A ") Pa L.
& oIH Xl [Stored energy]
HEE XIS SS90,
NZ& EtHdE [Storage modulus]
MO SHEHS ASEZAHUAMN (HE) HEED A0 LXols (HE) 2389 E=2s
HEEZ e & ¢ (dZ g3) Pa.
&= [Viscosity]
(1) HBEECZ=, HE £ SOIEN et HE MEstd ot 229 HAE.
(2) MNOZ=, HAM Uz HE SENAM HE 22Hg HE 522 LUs 2402
HofleE Y. &5 220 89 s202 A28, Pa's
T H [Viscometer]
c HEE =Hot)| /A Al
Al [Viscosity ratio]
A BEO SS90,
HEtA [Viscoelastic(ity)]
DA BEHol HAS 2% JIKD /Us A
Ha S5 [Steady flow]
S Oe NEWAE AIZH et =01 Holkl 2= SE.
X Al2F [Retardation timel
D Kelvin 2212 2= 220 Holl, #206lE 228 HMHe 50 HEES0| e o
SO 1/eMXl 2ATI=0 Zel= A2
=2 [Laminar flow]
2RI e S 8.
A2 [Creep]
D29 L HEY, BEE 2Fs S¥ oliA SHE.
Aeld [Creaming]
2AAIOl QITIS0| SEMO BHIN Setots A



Bt [Elastic(ity)]
2 /HMEE9 HE0| JtEXOQI
Etd H 2= [Elastic modulus]
3882 00 HLote M HEEZ L A, Pa.
Et&4E [Modulus]
D QSN HEE Hd20 e 22 8429 dl. Pa.
Etd oAl [Elastic liquid]
HEN HdE2E OlLlet 88 425 UEHE 2H

EtA Ol4 Xl [Elastic energy]
HEE UXIS S90.

&= 22 [Yield stress]
DB BHENA JlAd BECZ2 HOIE e 8. o, Pa
Shab M [Reduced viscosity]
2ZE0|LE 24tA &9 SZ0fl 8 HIEE., mikg L
S2 24 [Flow curve]
2880 HE 5T A0 2HE LIEtH=E =24
SE =2Z2Z2& [Flow birefringencel
SE0l 2ol MI|l= Z2&A HS2d,
Couette 8 (&8) [Couette flow (circular)]
N2 AMUESZ SHEGD Ys T IS S =2 AH0IS & (annulus)l A2l
Cte= HE S8,
Couette &8 (") [Couette flow (plane)]
CNE MAEC=Z BA0les & Haist WE AN S= HE SE.
Deborah #= [Deborah number]
D HHole HE B E4 A0l Uist 229 E4 (23} Al2tel dl.
Kelvin 2€ [Kelvin model]
: Hooke 221 RE SAM 2EOl €& HEZ 0IFHE JIHAE 2.
e 28,
Navier—Stokes 2t& 4! [Navier-Stokes equations]
S22 UEIHH=E Xt &AL

Dere SAMe A

Voigt 24 0lct



Poiseuille 2 [Poiseuille flow]
D UAME 23 JI2D| SlUlA KE ShEH 9

Taylor AZ2£0| [Taylor vortices]
c Taylor =D} S& g2 EAS2 M |
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Taylor 2= [Taylor number]
 ¥E Couette 58 01|/\-I 834 St AL

Trouton HI [Trouton ratio]
HE A st A EE9 .
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Trouton E & [Trouton viscosity]
DAE BT SS90,

Voigt 2< [Voigt model]
D Kelvin 2€29] £9|(4.

Weissenberg %= [Weissenberg number]
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Weissenberg &1 [Weissenberg effect]
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